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QUESTION 1

Which two pieces of information about a neighboring device are displayed when you use the CLI command show cdp
neighbor? (Choose two.) 

A. platform 

B. uptime 

C. device ID 

D. Cisco IOS Software version 

E. IP address 

Correct Answer: AC 

 

QUESTION 2

Which two pairs of LAN Ethernet devices use an RJ-45 straight-through cable? (Choose two.) 

A. switch-to-switch 

B. switch-to-router 

C. switch-to-hub 

D. router-to-router 

E. switch-to-server 

Correct Answer: BE 

 

QUESTION 3
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Refer to the exhibit. Which two statements about the hardware components are true? (Choose two.) 

A. 2 is an RJ-45 to USB Type A console cable. 

B. 3 is a USB Type A port. 

C. 3 is a USB 5-pin mini USB Type B port. 

D. 1 is a USB Type A port. 

E. 2 is a USB 5-pin mini USB Type B to USB Type A console cable. 

Correct Answer: BE 

Reference: https://www.cisco.com/c/en/us/td/docs/routers/access/2900/hardware/installation/guide/
Hardware_Installation_Guide/Install_Connect.html 

 

QUESTION 4

An Ethernet interface is up and the line protocol is down. What are two possible causes? (Choose two.) 

A. There is a speed or duplex mismatch with the remote device. 
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B. There is a Layer 2 mismatch in the encapsulation type. 

C. The Ethernet interface has been manually disabled. 

D. Keepalives are not being received by the local device. 

E. The Ethernet cable might not be attached properly. 

Correct Answer: AB 

 

QUESTION 5

Which command displays information about the carrier network, cell site, and available service? 

A. show cellular unit network 

B. show cellular unit radio 

C. show cellular unit hardware 

D. show cellular unit profile 

Correct Answer: A 

Reference: https://www.cisco.com/c/en/us/td/docs/solutions/Verticals/EE/IG-WAN/EE-WAN-IG/EE-WANIGch2.html 
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